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= Al 755,086 734,780 20,306 2.76%
ALY 739,042 710,350 28,692 4.04%
Mees 16,044 24,430 NB,386| A34.33%
dH 2SI 0 0 0 0.00%
INE=IE=PN 744,658 734,780 9,878 1.34%
=2 d 744,658 734,780 9,878 1.34%
IFI=MEEE L HASES MEUHIN 728,614 710,350 18,264 2.57%
E30 ==X Hel(d=2=30HSHSIH) 728,614 710,350 18,264 2.57%
WRES(=UMEI ) 16,044 24,430 N8,386( A34.33%
BEXE(A=220SE3A) 16,044 24,430 NB,386 A34.33%
ol gl 10,428 0 10,428 100.00%
ol g1yl 10,428 0 10,428 100.00%
ollBldl 10,428 0 10,428 100.00%
HEEI (A E2HEESH) 10,428 0 10,428 100.00%
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